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MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 

Weightage : 70%  

Note : Attempt any five questions. All questions carry equal 

marks. 

1. Discuss the role and functions of management 8+12 
accountant in a modern business organisation. 

2. Describe the different methods of costing, and 14+6 
state the particular industries in which these can 
be applied. 

3. Explain the pre-requisites of establishing a system 20 
of budgeting. 

4. "Marginal costing is a useful tool to management 5+15 
in taking various policy decisions, profit planning 
and cost control". Discuss the statement and 
explain any four managerial problems where 
marginal costing is helpful. 

5. Write explanatory notes on any two of the 
following : 	 10+10 
(a) Flexible Budget 
(b) Zero Base Budgeting 
(c) Performance Budgeting 
(d) Budgetary Control Ratios 
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6. 	What is meant by Transfer Pricing ? Discuss 6+14 
various methods of transfer pricing. 

7. 	From the following information compute : 	4x5=20 

(a) Debt equity ratio 

(b) Proprietary ratio 

(c) Capital gearing ratio 

(d) Quick ratio 

Balance Sheet of R Ltd. as on 31st March 2011 

Liabilities Rs. Assets Rs. 

Equity share capital 40,000 Land 22,000 

8% Preference 
share capital 

20,000 Building 24,000 

Reserves 10,000 
Plant and 
Machinery 

38,000 

Profit and Loss 
Account 

5,000 Furniture 5,000 

10% Debentures 45,000 
Sundry 
Debtors 

22,000 

Trade creditors 9,000 Stock 13,000 
Outstanding 
expenses 

2,000 Cash 14,000 

Provision for 
Taxation 

3,000 
Prepaid 
expenses 

2,000 

Proposed Dividend 6,000 

1,40,000 1,40,000 
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8. 	The following information is available from the 
records of a company 	 5x4=20 

Standard wages Actual wages 

Skilled : 
90 workers @ Rs. 2 
per hour 

80 workers @ Rs. 
2.50 per hour 

Unskilled : 
60 workers @ Rs. 3 
per hour 

70 workers @ Rs. 2 
per hour 

Budgeted hours : 
1000 Actual hour : 900 

You are required to calculate the following : 
(a) Labour Cost Variance 
(b) Labour Rate Variance 
(c) Labour Efficiency Variance 
(d) Labour Mix Variance 
(e) Revised Labour Efficiency Variance 

9. 	The cost information computed by the cost 
accountant is as follows : 	 4x5=20 
Sales 	 1,00,000 units 
Selling price 	Rs. 10 per unit 
Variable cost 	Rs. 6 per unit 
Fixed cost 	Rs. 60,000 per annum 
Compute the following : 
(a) Break even point in units and value 
(b) Sales volume to make a profit of Rs. 40,000 
(c) Sales volume to make a profit of Rs. 2 per 

unit 
(d) Sales volume to make a profit of 30% on 

sales 
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5. l f-14-1 	tgcl 	f 	t TIT 	oRcquIlci-lch 	izwfulq 
10+10 f--t- 	I 

(a) cliqqk 

(b) 7Pjf 34T417 a\3-1 z)1 

(c) f97:1-1q7 

(d) f9-4-T3T 3-171-d 

6. q71-1Td. f91thlif 	err t? 

tq-ka-r 	fq-W 6+14 -wIf--A7I 

7. 4x5=20 14-1 cl 	Ac-1 	9-r 	31T -cr-{ nun 

(a) .*71. 	3151-U 

(b) 	 3-TIETTU 

(c) 1:ffr Trl-zrfi-TT 34-q-crm, 

(d) Irchlc-1 3-171a.  (Quick Ratio) 

R Ltd Fri. --1. 474T1 -qlta 31 11T4, 2011 -crT 

tLraT .  T. T. 4 tt-14 ritir 

tNart tITTT -cft 40,000 71=fta• (p) 22,000 

8% -7[2.1f1=1 	art  It 20,000 1.1-q-ff 24,000 

T.1-47 (fT-4-47) 10,000 38,000 ITTiz aTRT1-17 

5,000 79-1-4T 5,000 0144---Ir-1 ff71 

45,000 22,000 10 )̀/0.4v-iii-N fai-a%T 	,iqk 

9,000 Tort--  13,000 cilLeta, 	-iqlt 

3T--9':{74 2,000 14,000 

cb,ckfriMIclgrff 3,000 2,000 -7---ff oii 

6,000 R.ciiraci• ki'cis 

1,40,000 1,40,000 
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8. 	-> 	 F-14-1FORld 	 : 
4-11-icr)  

ti 	l 0:90 	2 T. -vfd EfaT 	 
: 60 sift 3 T. tic 	 chl 7 TR 

qR-dr,41-) X1\31 1 	
	 : 80 if-14-q; 2.50 T. slidzl m1 
aitTF : 70 	2 T. -51-fa. 	ch1 

=1000 
ciR-cIrci* 	=900 
-1 4-ircir(5(1 rcl -citujj (variance) *. 	 

(a) 311:1 fqq-TuT 
(b) sil=1 q.& 

(c) 3114 kl--61 f4-471 
(d) .571 ri-ITT1 fq-TP7T 
(e) -cfft-71-1-fq-d. 	fq-q7uT 

5x4=20 

9. 
4x5=20 

fq--*-74.  (1,00,000) ci-)WAI 
fq-wzr pfd 10 T. .9-fu 
trft-q-d1 OHM 6 T.-SifJ 
#217 (11+Id 60,000T. 5fq" .44 

Ocl 	quill wWA71 
(a) -14-1101-,,,,3q f4S (BEP) - <=t11-11 
(b) 40,000 T. ON 3 	t Foy. fa-----zr tift-groT 
(c) 2 T. -5ifff 	 -wt-4 

YR4-11u1 
(d) fq-wq ITT 30% OM 	t [Oct 4r4.4-Hui 
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